Geometry 4.1-43 Practice
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1. ACAT = AJSD,
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Name three pairs of congruent angles.
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State whether the pairs of figures are congruent, Explain,
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Tell whether the triangles are congruent. If so, write a congruence statement and the
postulate you used to prove the triangles congruent. If not, write noi possible.
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10. Write a two-column proof : 3
Given: /K = /M, KL= _
Prove: AJKL = APML
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What else must you know to prove the triangles congruent for the reasons shown?
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14, Write a proof.
Given: EF = FG, DF = FH
Prove: ADFE = AHFG
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15, Write a proof.
Given: /Q= /S, ZTRS = ZRTQ

Prove: AQRT = ASTR
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GiVeMn: AM = CP. C is the midpoint of AG, AMHCP

PProve: AACM= ACGP
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Given: Sisthe midpoint of RT, PR = PT

Prove: APRS= APTS
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GiVen: YX = X7, WX bisects £ YX7

Brove: AWwyx = AWIX
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GiYer: Eis the midpoint of AB, Eis the midpoint of CD
Prowe: AAFC = ABED
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Givern:
Proye: APQR= ATSR

P

R is the midpoint of QS, ZRPQ = £RTS
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Given: JA=ZF BC=D0C

PIrOvVe: AABC = ADEC
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